EVLW

Problems for exercise — numerical methods for matrix inversion

Inverse the matrices given below and at the same time calculate their determinants

using the Gauss-Jordan method:

1 2 3 1 3 2
1) A=|-2 -4 -5, Answer: At=/-3 -3 -1
3 5 6 2 1 0
1 3 2 1 2 3
2) B=|-3 -3 -1/, Answer: B1=l-2 -4 -5
2 1 0 3 5 6
1 i 3 0o i1
3yc={-i 1 il, Answer: Ct=|1i -1
_ 1 1
0 —-i 1 1 -lio
14 -5 12 7 10 -11
4) A=| 9 -2 7|, Answer: At=| -7 -8 10
17 -5 14 ~11 -15 17
_ 1 1 5
Lo 1o bos 1
5) A= o Answer: At-| 0 > 1 -2
13 12 1 - _1 >3
7 7 7
-2 1 -2 1 0o -7 -1 3
1 7
6) A=|2 1 0], Answer: A= & & -3
3 -1 1 5 _18 7
22 22 22
1 3 4 011 -042 035 -023
7N acl” 0 3 -2 Answer: a-l_| 008 032 -010 058
1 -3/ ' 013 014 005 -009
2 -1 1 014 -008 —010 —002
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